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500-560 Study Material, Preparation Guide and PDF Download

Cisco 500-560 exam is ideal for IT professionals who are seeking to advance their careers in networking and cloud technologies.

Candidates who pass the exam demonstrate their proficiency in implementing and deploying Cisco solutions in both on-premise and

cloud environments, which is a valuable skill in today's digital age. Cisco Networking: On-Premise and Cloud Solutions certification

is recognized globally and validates the candidate's expertise in the latest Cisco technologies, making them highly sought after by

employers in the IT industry.

To pass the Cisco 500-560 certification exam, you must have a thorough understanding of Cisco networking technologies and the

ability to apply these technologies to real-world situations. You must also have experience in designing, implementing, and

managing Cisco networking solutions. 500-560 exam is challenging, and you must prepare thoroughly to achieve success.

 

NEW QUESTION 38
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Which three profit drivers are most important when selling Cisco security? (Choose three )

*  emphasizing product and service specs and capabilities

*  becoming a security specialized partner

*  steering customers toward the unique capabilities offered by on-premises security products

*  attending Selling Security for Partners role-based training

*  selling multiple services over multiple years

*  recommending high performance products to meet possible future needs

NEW QUESTION 39

Which three characteristics of the use of a Cisco SMB router in a small-box retail establishment are true? (Choose three)

*  provides integrated security

*  creates complex management

*  requires a switch for wired LAN ports

*  creates a single point of failure

*  has a large physical footprint

*  provides integrated wireless

NEW QUESTION 40

Which four resources are included in the commercial sales starter kit? (Choose four)

*  RF planner

*  Sales connect site tools

*  positioning guide

*  fast track offers

*  Cisco configuration professional

*  game plan training

*  router/switch selector tool

NEW QUESTION 41

Which three characteristics of the Cisco Configuration Professional for Catalyst are true?

(Choose three )

*  Utilizes Cisco Prime Infrastructure for remote administration

*  provides Day-0 setup and configuration

*  provides alerts that require administrative attention

*  offers the ability to monitor system health

*  used as part of the Cisco DNA, APIC-EM provisioning solution

*  requires access to the CLI

NEW QUESTION 42

In which two ways does the MX security appliance achieve automatic failover and high availability? (Choose two )

*  Survivable Remote Site Telephony

*  warm spare (using VRRP)

*  dual redundant uplink support (multiple ISPs)

*  always on (availability groups)

*  redundant gateways (using HSRP)

https://meraki.cisco.com/technologies/failover-and-ha
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NEW QUESTION 43

Which two remote live troubleshooting tools are available directly within the Cisco Meraki dashboard? (Choose two)

*  Flexible NetFlow

*  virtual breakout boxes

*  Internetwork Performance Monitor

*  packet capture

*  cable test tool

https://meraki.cisco.com/technologies/remote-live-tools

NEW QUESTION 44

Which two feature licenses (subscriptions) are available for the MX security appliances? (Choose two)

*  Advanced Security

*  Essential

*  Defended

*  Comprehensive

*  Enterprise

https://documentation.meraki.com/zGeneral_Administration/Licensing/Cisco_Meraki_Licensing# MX_Licensing_Options

NEW QUESTION 45

Which indicator that a customer would benefit from a Cisco Meraki cloud-managed network is true?

*  Customer requires modular hardware customization and granular, command-line level interfacing.

*  Customer prefers direct access to on premises appliances and servers via in-line terminal management.

*  Customer requires end-to-end visibility and a network that can be quickly deployed and easily managed by a limited IT staff

*  Customer desires to implement a diverse solution of firewalls with third party integration alongside other cloud applications

NEW QUESTION 46

Which two security tools allow administrators to maximize the security of their dashboard management accounts? (Choose two.)

*  local (direct) access only policies

*  Captcha challenge-response tests

*  biometric authentication

*  two-factor authentication

*  role-based administration

NEW QUESTION 47

Which two options are the Cisco Meraki SD-WAN suites of features? (Choose two )

*  physical and virtual stacking

*  intelligent path selection

*  RSTP and MGig support

*  transport independence

*  SSL VPN

https://meraki.cisco.com/solutions/sd-wan

NEW QUESTION 48
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Which statement about the Cisco Umbrella Branch feature on Cisco SMB routers is true?

*  It gives users access to resources as they move in mobile or virtualized networks.

*  It blocks requests to malicious domains and IPs before a connection is ever made.

*  It offers signature based intrusion detection for regulatory compliance.

*  It provides a straightforward method for traffic segmentation in guest Wi-Fi use cases.

NEW QUESTION 49

Which of the following best describes the ISR 1000?

*  a routing solution for customers who do not need an SD-WAN architecture

*  a high-performance single platform capable meeting Gigabit forwarding performance needs

*  a high-performance platform that offers SD-WAN, comprehensive security, and wired and wireless access

*  an entry-level platform delivering WAN, comprehensive security, and cellular connectivity

NEW QUESTION 50

Which three options can be connected directly to a Cisco Nexus switch? (Choose three.)

*  Token ring network

*  Storage area network

*  Server cluster

*  Local area network

*  4G network

*  Wide area network

NEW QUESTION 51

What option or options can customers use for multi-site management with Mobility Express?

*  WebUl

*  Prime 3.4 or DNA Center

*  mobile app

*  WebUI or mobile app

NEW QUESTION 52

What is one benefit of Cisco Umbrella?

*  view of the network at a fixed point in the past to troubleshoot issues

*  protection against command-and-control callbacks

*  easy hardware installation

*  real-time telemetry

NEW QUESTION 53

Which Cisco series of routers provides the most sophistication and customization in the Cisco small to mid-sized routing portfolio?

*  800 Series

*  1100 Series

*  RV Series

*  Meraki Series

NEW QUESTION 54
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Which statement correctly describes how Cisco Meraki devices behave should they be unable to contact the Meraki Cloud server?

*  The network devices will attempt to establish a connection to a locally hosted database server that has been configured for high

availability.

*  The devices may be re-initiated into a backup mode if an administrator manually intervenes using a direct, local connection.

*  The network stops passing traffic across all devices and the interfaces including any connected non- Cisco Meraki devices.

*  The network devices continue to function normally (traffic lows at full rate) but management and configuration functions are

interrupted.

NEW QUESTION 55

Which three decision makers should you focus on when proposing Cisco architectural solutions?

(Choose three.)

*  Individual contributors

*  Operations managers

*  Purchasing officers

*  Technical decision makers

*  Business decision makers
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